





## **Corporate Office:**

2nd Floor, Mrudul Tower, B/h. Times of India, Ashram Road, Ahmedabad - 380 009. Gujarat. INDIA.

Tel.: +91-79-66614508 Fax: +91-79-26579387 Email: info@gyscoal.com Web: www. gyscoal.com

#### **Branch Office:**

17th Floor, Atlanta Building, # 171/172, Nariman Point, Mumbai - 400021.

Ph.: + 91-022-40082600

Fax: +91-022-40082626

## Regd. Office & Factory:

Plot No. 2/3, GIDC,

Ubkhal, Kukarwada - 382830

Tal.: Vijapur,

Dist.: Mehsana, Gujarat. INDIA. Tele.: + 91-2763-252384

Fax : + 91-2763-252540

CIN NO.: L2709GJ1999PLC036656

#### Introductory sub-table (I)(a)

Name of the Company: GYSCOAL A	LLOYS LIMITED				
Scrip Code, Name of the scrip, clas	s of security: 533275, GAL, EQU	ITY			
Quarter ended: 31ST DEC, 2014					
Partly paid-up shares:-	No. of partly paid-up shares	As a % of total no. of paid-up shares	artly	As a % of total no. of shares of the company	of
Held by promoter/promoter group			0		0
Held by public			0		0
Total	0		0		Ō
				As a % of total no. of shares	OF .
Outstanding convertible securities:	- No. of outstanding securities	As a % of total no. of outstanding convertible securities		the company, assuming full conversion of the convertible securities	
Held by promoter/promoter group			0		0
Held by public			0		0
Total	0		0		0
				As a % of total no. of shares	of
Warrants:-	No. of warrants	As a % of total no. of warrants		the company, assuming full conversion of warrants	
Held by promoter/promoter group					0
Held by public			0		0
Total	<del></del>		0		0
	·				
Total paid-up capital of the company, assuming full conversion of warrants and					
convertible securities	15827556	i		<u> </u>	









CIN NO.: L2709GJ1999PLC036656

## **Corporate Office:**

2nd Floor, Mrudul Tower, B/h. Times of India, Ashram Road, Ahmedabad - 380 009. Gujarat. INDIA.

Tel.: + 91-79-66614508 Fax: +91-79-26579387 Email: info@gyscoal.com Web: www. gyscoal.com

#### **Branch Office:**

17th Floor, Atlanta Building, # 171/172, Nariman Point, Mumbai - 400021.

Ph.: + 91-022-40082600 Fax: + 91-022-40082626

## Regd. Office & Factory:

Plot No. 2/3, GIDC,

Ubkhal, Kukarwada - 382830

Tal.: Vijapur,

Dist.: Mehsana, Gujarat. INDIA. Tele.: + 91-2763-252384 Fax: + 91-2763-252540

			State	ment Showing	Sharehold	ing Pattern		<u>1x : + 91-2763-25</u> 2	
				e (I)(a)					
Categ ory code	Category of Shareholder	Number of Shareholders	Total number of shares			hareholding as a e of total number of shares	Shares Pledged or otherwise encumbered		
					As a percentage of (A+B) <sup>1</sup>	As a percentage of (A+B+C)	Number of shares	As a percentage	
(I) (A)	(II) Shareholding of Promoter and Promoter Group <sup>2</sup>	(III)	(IV)	(V)	(VI)	(VII)	(VIII)	$(VI)^*(VI)^*(VI)$	
1	Indian								
(a)	Individuals/ Hindu Undivided Family								
(b)	Central Government/ State	8	6803353	6803353	42.98	42.98		0.00	
	Government(s)	0		0	0.00	0.00_		0.00	
(c)	Bodies Corporate	5				16.40		0.00	
(d) (e)	Financial Institutions/ Banks Any Others(Specify)	0		0 0	0.00	0.00		0.00	
(e-i)	Any Onicis(specify)	—— <u> </u>			0.00	0.00		0.00	
(e-ii)					0.00	0.00		0.00	
	Sub Total(A)(1)	13	9398713	9398713	59.38	59.38	0	0.00	
2 a	Foreign Individuals (Non-Residents Individuals/ Foreign Individuals)			0	0.00	0.00	0	0.00	
ь	Bodies Corporate			0	0.00	0.00	0	0.00	
c	Institutions			0	0.00	0.00	0	0.00	
d	Qualified Foreign Investor			0	0.00	0.00	0	0.00	
e-i	Any Others(Specify)	-		0 0	0.00	0.00	0 0	0.00	
c-ii					0.00	0.00			
	Sub Total(A)(2)	0	0	0	0.00	0.00	0	0.00	
	Total Shareholding of	13	9398713	9398713	59.38	59.38	0	0.00	
(B)	Public shareholding								
(a)	Institutions Mutual Funds/ UTI		<del> </del>		0.00	0.00			
(b)	Financial Institutions Banks				0.00	0.00	<u>-</u>		
(c)	Central Government/ State Government(s)				0.00	0.00			
(d)	Venture Capital Funds				0.00	0.00			
	Insurance Companies Foreign Institutional Investors	1	12252	12252	0.00	0.00			
(g)	Foreign Institutional Investors Foreign Venture Capital Investors		12252	12252	0.08	0.08			
(h)	Qualified Foreign Investor			<del></del>	0.00	0.00			
	Any Other (specify)			<del></del>	0.00	0.00			
(i-ii)	,(				0.00	0.00			
(i-ii)									
	O I M ( I m) (I								
	Sub-Total (B)(1)	1	12252	12252	0.08	0.08			









**Corporate Office:** 

2nd Floor, Mrudul Tower, B/h. Times of India, Ashram Road, Ahmedabad - 380 009. Gujarat. INDIA.

Tel.: + 91-79-66614508 Fax: +91-79-26579387 Email: info@gyscoal.com Web: www. gyscoal.com

**Branch Office:** 

17th Floor, Atlanta Building, # 171/172, Nariman Point, Mumbai - 400021.

Ph.: + 91-022-40082600

Fax: +91-022-40082626

CIN NO.: L2709GJ1999PLC036656

Regd. Office & Factory:

Plot No. 2/3, GIDC,

Ubkhal, Kukarwada - 382830

Tal.: Vijapur,

Dist.: Mehsana, Gujarat. INDIA.

Tele.: + 91-2763-252384 Fax: + 91-2763-252540

								<u> 100 20</u> 2
B 2	Non-institutions							
(a)	Bodies Corporate	140	1857511	1857511	11.74	11.74	510	0.03
(b)	Individuals				0.00	0,00		
	Individuals -i. Individual				-			
	shareholders holding nominal					ľ		
I	share capital up to Rs 1 lakh	4736	1533985	1533985	9.69	9.69	0	
II	ii. Individual shareholders							
	holding nominal share capital	ł				ļ ļ		
	in excess of Rs. 1 lakh.	67	2806332	2806332	17.73	17.73	0	0.00
(c)	Qualified Foreign Investor	0	0	0	0.00	0.00	0	0.00
(d)	Any Other (specify)							
(d-i)	Clearing Member	60	67392	67392	0.43	0.43	0	0.00
(d-ii)	Non-Resident Indian (Repat)	34	37422	37422	0.24	0.24	0	0.00
(d-iii)	Non-Resident Indian (Non							
	Repat)	5	1642	1642	0.01	0.01	0	0.00
	Foreign Portfolio Investor							
(d-iv)	(Corporate)	1	112307	112307	0.71	0.71	0	0.00
	Sub-Total (B)(2)	5043	6416591	6416591	40.54	40.54	510	0.01
	Total Public Shareholding		ļ	Į.				
<b>(B)</b>	(B)=(B)(1)+(B)(2)	5044	6420042	6420040	40.70	40.60	510	0.01
		5044	6428843	6428840	40.62	40.62	510	10.0
	TOTAL (A)+(B)	5057	15827556	15827553	100.00	100.00	510	0.00
(C)	Shares held by Custodians							
	and against which				•			
	Depository Receipts have been							
	issued							
1	Promoter and Promoter Group					0.00		0.00
2	Public					0.00		
	Sub-Total (C)	0	0	- 0	<del></del> _	0	0	0
	GRAND TOTAL (A)+(B)+(C	5057	15827556	15827553		100.00	510	0.00









**Corporate Office:** 

2nd Floor, Mrudul Tower, B/h. Times of India, Ashram Road, Ahmedabad - 380 009. Gujarat. INDIA.

Tel.: + 91-79-66614508 Fax: +91-79-26579387 Email: info@gyscoal.com Web: www. gyscoal.com

**Branch Office:** 

17th Floor, Atlanta Building, # 171/172, Nariman Point, Mumbai - 400021.

Fax: +91-022-40082626

Ph.: + 91-022-40082600

CIN NO.: L2709GJ1999PLC036656

Regd. Office & Factory:

Plot No. 2/3, GIDC,

Ubkhal, Kukarwada - 382830

Tal.: Vijapur,

Dist.: Mehsana, Gujarat. INDIA. Tele.: + 91-2763-252384

Fax : + 91-2763-252540

(I)(b) Statement showing holding of securities (including shares, warrants, convertible securities) of persons belonging to the category "Promoter and Promoter Group"

Sr.	Name of the shareholder	ame of the shareholder Details of Shares held Encumbered shares (*) Details of war		Encumbered share	es (*)	Details of warrants  Details of convertible securities		Total shares (including			
											underlying shares assuming
											full conversion of warrants
									 		and convertible securities) as
											a % of diluted share capital
		Number of shares held	As a % of grand total (A) +(B) +( C	No.	As a percentage	As a % of grand total (A)+(B)+(C) of sub- clause (I)(a)	·	As a % total number of warrants of the same class	Number of convertible securities held		
No.											
(1)	VIRAL SHAH	(III) 5176396	(IV) 32.70	(V)	(VI)=(V)/(III)*100 0.00	(VII) 0.00	(VIII)	(DX)	(X)	(XI)	(XII)
2	GENERAL CAPITAL AND HOLDING COMPANY PVT. LTD.	1538460	9.72		0.00	0.00					
	GIRABEN KISHORSINH SOLANKI	1415735	8.94		0.00	0.00					
	SAMPATI SECUIRITES LIMITED	1056900	6.68		0.00	0.00					
5	SOLANKI ZANKARSINH KISHORSINH	154857			0.00	0.00					
6	MONA VIRAL SHAH	28284	0.18		0.00	0.00					
7	DIPALI MANISH SHAH	28081	0.18		0.00	0.00					
TOTA	AL	9398713	59.38	0	0.00	8.00	0		0		0









**Corporate Office:** 

2nd Floor, Mrudul Tower, B/h. Times of India, Ashram Road, Ahmedabad - 380 009. Gujarat. INDIA.

Tel.: + 91-79-66614508 Fax: +91-79-26579387 Email: info@gyscoal.com Web: www. gyscoal.com

**Branch Office:** 

17th Floor, Atlanta Building, # 171/172, Nariman Point, Mumbai - 400021.

Ph.: + 91-022-40082600 Fax: + 91-022-40082626 CIN NO.: L2709GJ1999PLC036656

Regd. Office & Factory:

Plot No. 2/3, GIDC,

Ubkhal, Kukarwada - 382830

Tal.: Vijapur,

Dist.: Mehsana, Gujarat. INDIA.

Tele.: + 91-2763-252384 Fax: + 91-2763-252540

								1 ax . + 31-2100-232340
(I)(c)(i)	Statement showing holding of securitie	s (including st	nares, warrants, conv	ertible se	curities) of p	ersons belo	nging to the	
	category "Public" and holding more th	an 1% of the	total number of share	25				
Sr. No.	Name of the shareholder	Number of shares held	Shares as a percentage of total number of shares (i.e., Grand Total (A)+(B)+(C)	Details of	of warrants	Details of convertible securities		Total shares (including underlying shares assuming full conversion of warrants and
		l	indicated in Statement at para (I)(a) above}	Number of warrant s held	As a % total number of warrants of the same class	le	% w.r.t total number of convertible securities of the same class	convertible securities) as a % of diluted share capital
	TRILOCHAN CORPORATE							
1	SERVICES PRIVATE LIMITED	705016	4.45		0		0	
2	AIRAN FINSTOCKS PVT LTD	275369	1.74					
3	MASTER CAPITAL SERVICES LTD	161287	1.02					
TOTAL		1141672	7.21	0	0	0	0	









CIN NO.: L2709GJ1999PLC036650

## **Corporate Office:**

2nd Floor, Mrudul Tower, B/h. Times of India, Ashram Road, Ahmedabad - 380 009. Guiarat. INDIA.

Tel.: + 91-79-66614508 Fax: +91-79-26579387 Email: info@gyscoal.com Web: www. gyscoal.com

**Branch Office:** 

17th Floor, Atlanta Building, # 171/172, Nariman Point, Mumbai - 400021.

Ph.: + 91-022-40082600 Fax: + 91-022-40082626 Regd. Office & Factory:

Plot No. 2/3, GIDC,

Ubkhal, Kukarwada - 382830

Tal.: Vijapur,

Dist.: Mehsana, Gujarat, INDIA. Tele.: + 91-2763-252384

Fax : + 91-2763-252540

(I)(c)(ii) Statement showing holding of securities (including shares, warrants, convertible securities) of persons (together with PAC) belonging to the category "Public" and holding more than 5% of the total number of shares of the company

Sr. No.	. Name(s) of the shareholder(s) and the Persons Acting in Concert (PAC) with them	Number of shares	Shares as a percentage of total number of shares {i.e., Grand Total (A)+(B)+(C) indicated in Statement at para (I)(a) above}		As a % total number of warrants of the same class	Number of convertible securities held	% w.r.t total number of convertible securities of the same class	Total shares (including underlying shares assuming full conversion of warrants and convertible securities) as a % of diluted share capital
1	NIL		0.00		0		0	
TOTAL	L	0	0.00	0	0	0	0	0









**Corporate Office:** 

2nd Floor, Mrudul Tower, B/h. Times of India, Ashram Road, Ahmedabad - 380 009. Gujarat. INDIA.

Tel.: + 91-79-66614508 Fax: +91-79-26579387 Email: info@gyscoal.com Web: www. gyscoal.com

**Branch Office:** 

17th Floor, Atlanta Building, # 171/172, Nariman Point, Mumbai - 400021.

Ph.: + 91-022-40082600

Fax: +91-022-40082626

CIN NO.: L2709GJ1999PLC036656

Regd. Office & Factory:

Plot No. 2/3, GIDC,

Ubkhal, Kukarwada - 382830

Tai.: Vijapur,

Dist.: Mehsana, Gujarat. INDIA. Tele.: + 91-2763-252384

Fax : + 91-2763-252540

#### (I)(d) Statement showing details of locked-in shares

Sr. No.	Name of the shareholder	Number of locked-in shares	Locked-in shares as a percentage of total number of shares {i.e., Grand Total (A)+(B)+(C) indicated in Statement at para (I)(a) above}	Category
	NIL			
TOTAL	L	0	0.00	









**Corporate Office:** 

2nd Floor, Mrudul Tower, B/h. Times of India, Ashram Road, Ahmedabad - 380 009. Gujarat. INDIA.

Tel.: + 91-79-66614508 Fax: +91-79-26579387 Email: info@gyscoal.com Web: www. gyscoal.com **Branch Office:** 

17th Floor, Atlanta Building, # 171/172, Nariman Point, Mumbai - 400021.

Ph.: + 91-022-40082600

Fax: + 91-022-40082626

CIN NO.: L2709GJ1999PLC036656

Regd. Office & Factory:

Plot No. 2/3, GIDC,

Ubkhal, Kukarwada - 382830

Tal.: Vijapur,

Dist.: Mehsana, Gujarat. INDIA. Tele.: + 91-2763-252384

Fax : + 91-2763-252540

# (II)(a) Statement showing details of Depository Receipts (DRs)

	Type of outstanding DR (ADRs, GDRs, SDRs, etc.)	Number of outstanding DRs	Number of shares underlying outstanding DRs	Shares underlying outstanding DRs as a percentage of total number of shares {i.e., Grand Total (A)+(B)+(C) indicated in Statement at para (I)(a) above}			
	NA			0.00			
TOTAI		0	0	0.00			









CIN NO.: L2709GJ1999PLC036656

## **Corporate Office:**

2nd Floor, Mrudul Tower, B/h. Times of India, Ashram Road, Ahmedabad - 380 009. Gujarat. INDIA.

Tel.: + 91-79-66614508 Fax: +91-79-26579387

Email: info@gyscoal.com Web: www. gyscoal.com

#### **Branch Office:**

17th Floor, Atlanta Building, # 171/172, Nariman Point, Mumbai - 400021.

Ph.: + 91-022-40082600

Fax: +91-022-40082626

# Regd. Office & Factory:

Plot No. 2/3, GIDC,

Ubkhal, Kukarwada - 382830

Tal.: Vijapur,

Dist.: Mehsana, Gujarat. INDIA.

Tele.: + 91-2763-252384 Fax : + 91-2763-252540

## (II)(b) Statement showing holding of Depository Receipts (DRs), where underlying shares held by "promoter/promoter group" are in excess of 1% of the total number of shares

Sr. No	Name of the DR Holder	Type of outstanding DR (ADRs, GDRs, SDRs, etc.)	Number of shares underlying outstanding DRs	Shares underlying outstanding DRs as a percentage of total number of shares {i.e., Grand Total (A)+(B)+(C) indicated in Statement at para (I)(a) above}	
1	NA NA			0.00	
				0.00	
TOTAL				0.00	

